FEFRR

5 = SO HTA
R 5 4 2 K065 R EMgHE] =
R 5 4 7 K065 R EMgHE] =
R 5 4 8 K065 WEE RS
R 5 15 5 K065 R EMgHE] =
R 5 15 6 K065 WEE RIS
R 5 15 12 K065 R EMgHE] =
R 5 15 13 K065 R EMgHE] =
hR 5 13 7 K066 hmEFEItE=
R 5 13 8 K066 mEFaitil=
FRR 5 13 9 K066 mEEIti=
R 5 13 10 K066 mEFaitii=
R 5 13 11 K066 mEEIti=
R 5 21 9 K066 mEFaitii=
FRR 5 21 10 K066 mEEIti=
R 5 14 4 K067 mEFaitil=
R 5 21 5 K067 mEEIti=
R 5 21 6 K067 mEFaitilI=
FRR 5 21 7 K067 mEEIti=
R 5 28 2 K068 mEFEitH=
R 5 29 1 K069 hEFEILH=
R 5 29 12 K069 mEFEitH=
R 4 13 1 K070 hEFEILH=
R 5 29 1 K070 mEFEitH=
R 5 29 22 K070 hEFEILH=
R 5 29 1 K071 mEFEitH=
R 5 30 18 K072 hEFEILH=
R 6 3 24 K073 mEFEiti=
R 6 3 25 K073 hEFEILH=
R 6 6 5 K073 mEFEItH=
R 6 6 6 K073 hEFEILE=
R 6 6 9 K073 mEFEItH=
R 6 6 10 K073 hEFEILE=
R 6 6 11 K073 hmEFEItH=
R 6 10 8 K073 hEFEILH=




